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/ AFM Unit 2 Study Guide Name EAAL
Determine th drant each angle lies in —S‘l,’q— {/
clermine tne qua ant ea n. ,r C/

o Iy Wil Ll 3, -447° 4, 623° 5, 2

Change each degree to radian measure. (exact value only)

6. 2200(%‘)',%‘: 7. -4420 (J%U) 8. 1240( )

9. -4500 (ﬁ) 10. 150 ’1%) 12
...éfr 8 \IU/
Change each radian to degrees. Exact answers only. } Y T
11, -2 (-%Q) 12, % (%2) 18, =5 (—‘?) 14, l’}g(?)
190 Y405° AWr o 0°

® ! <V

Find a positive and negative co-terminal angle for each given angle. Keep units the same.

15, 1= ﬁ%r 16. -108° T A0’
v o
Ll 5“'!@, x -4uf’ 21517 (i)
|
Find the values of each given the point on the termmal side of 0. Draw a reference triangle.
20 (o ) sing = 1 ”’f;cose ’/7/ Sbane— "'7/7/
6>
L < ("/f}*’ (-2)*
= Y1+ Y4 ¢ v=V33
Y XZE)
26. (1,-9) singd -—:_0\}%1/ cose = (7/ tand = ..-OI
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27. If 6 lies in quadrant 11, and sing = ;a;, then tan o = '6[ 'S and cosb = 'I_SA_’]

17 7'
g T=g"y %"
=5 225 X - S

28. Determine the quadrant(s) where 8 would lie: ’[_‘—}é‘ T
a.¢cos8 > 0andtanB < 0 :]E b. sinB and tan® are opposite signs L_

Ly Z4 0mpﬂf4af\.ﬂ_r\ﬁ‘}f
C.sinB < 0andtang > 0 _ TTL

514 L3

29. Find the arc length of a circlle given the central angle is 1.5 radians and the radius is 7 cm.
S= 2 (7) (12)
<=T(1 'g/)ﬁ:?— \0-S

30. An arc has a measure of 6 cm intercepts a central angle of 759, Find the radius of the circle.
Round to two decimal places.

Ll’(_O:VZ:lT\’ C%o) 2 (9'3’5__11]' :g(fo v
P

31. Find the area of a sector if its central angle is 359 and the radius of the circle is 12.4 em. Round
to two decimal places.

F}=TI'(|2\LJ()1'(-;&(§) o
A2 Y. 90 gm ‘

Use a calculator and round to FOUR places. Beware of MODE.
32. sin(314°) 33. tan(-85.39) | 34. cos (- ) 35. tan (%)

~ 199 12 a3 A5 . 2153

Evaluate using exact values only. No calculator! (use your unit circle)

36. tan 180° 37. cos 3159  38. sin 1500 . ~ 39. tan 1350 40. sin Q°
i ‘ -
41, cos*Z 42, sin(—j—n) 43, tan3Z 44, cos=Z 45, sin 37
3 4 5 6 O
il . -
/7/ \(7//7/ /0\— - U\W}{‘ﬁ\/\d %

46. Given h(t) = -—32cos§§r + 48

\ \ = min height L\Lp = period
STE ¢
yy¢-2%+ ﬂ‘; B %’?

U<ty Qf’ Ty ‘

C‘ 0 = max height
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% Graph the following functions, Label the axes!
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47. y ZZsinZ (x + fé’.) e
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48. y = —3cos(3x +m) +4 rooureeereeereees '

a3 5
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49. A Ferris wheel with a radius of 17 feet is rotating at a rate of 4 revolutions per minute. The bottom chair is

8 feet above the ground. Writf a model for the height of a person above the ground whose height whent=01is

the minimum. S Ly ILQ S

?-;L\r }’GUSIWUV\ y "’/\"J {— \{ = "HCOS (21%-)() T 7/67
Y GV AL A T 2 N m?;\ i

e Yo b= amp

50. Write a sine an?cosine equation for the following graph.
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